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NO (g) + O3 (g)  NO2 (g) + O2 (g)   k (298 K) = 1,9 10-14 cm3 molec-1 s-1 

Tek
300

13105
  molec-1 cm3 s-1. 

•OH) 



•OH + CH4   →   produktuak  k1= 6,5∙10-15 cm3 molec-1 s-1  (298 K) 
•O (1D) + CH4   →   produktuak  k2= 1,5∙10-10 cm3 molec-1 s-1  (298 K) 
•Cl + CH4   →   produktuak  k3= 1,0∙10-13 cm3 molec-1 s-1  (298 K) 

[•OH] = 5∙105 moleccm-3 ; [•O(1D)]= 10-2 moleccm-3; [•Cl] = 104 moleccm-3 

 

NO2 + h  NO + •O   J = 810-3 s-1 

•O + O2 + M O3 + M   k = 6.110-34 cm6 molec-2 s-1 
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